4= —
ARATETE ;
H | H2 17 k=2 %5 @ '
LA NROBE /122D ER
SHR 8:30~ 8:40 SHR 8:30~ 8:40
2 |k @  8:45~ 9:35 (50) E,-’-‘é)% 8:40~ 8:55 E15§
AR10- § 9:00~ 9:50 (50
3K % 13;3?)&1?:22 Egg; @ 10:00~10:50 (50)
BE 11:35~12:05 1 ® 11:00~11:40 (40)
4| A wome 12:05~12:45 (40) %Dﬁ 11:40~12:10
KB 12:45~13:10 i 12:10~12:50 (40)
5 |4 = : KB 12:50~13:15
O e @l i a
M SV, = Nty 2N 00~ Bt — SVU~ld- 106~14: 40
' S 15:356~15:50
7|H
g ﬂzﬂﬂ%%ﬁﬁ@ PR IR B R A - 152K
A
9 | kAKX
(O REENIITEN /
10 KV EOR(ETHHR—), 24 LT Ak, SERE PR SC o [RAEEE] O
m B RIBA AR (T ANLSMIIRHN40 552 36) v g
1| A BFERAEG OUFEATERE  OFKHIR  AEafiERs | n [FEREEmE] O
TR (~4/17) FEBEHIA  1FI7VNEO@O®) / i
HOFE B (~4/18) 1,24E R T —F 7 AMEeE) + VEE BT AN
12| & | DH@EGIE05), AFOR@B(2-TIHED) — OI-1KpZiROoR 7 PG LD Ie
1$?7 V{F}a‘%ui@@@) £l Ra i PTES EiE-HEAMG/151NOBEH ¥ | .
13| SHAEDFRLIAEA (~15:50 30K, ~16:1085R) | sHR  8:30~ 8:40 B | =
LA RS (10 DE TR, 0K s 8:10~ 8:55 (15) || I | =
@  9:00~ 9:40 (40) [| 14 | 3@
14 | H @  9:50~10:30 (40) H 7 | p4
15| A <« @ 10:40~11:20 (40) || & @)
— — —— 11:30~12:10 (40) H =
DOOTRIM TR T A EERE | ae o b0 O
16 | K |SEHERF R BELRK (~17:10) ® 12:55~13:35 (40) “ o#ERfR O
BB 23 (18:00~, #2) . . oA
GSP#ilH = ) ® 13:45~14:25 (40) H L —
17|k |DHBELRLER  #eg s 2ms < @ 14:35~15:15 (40) g
_ _ iEH® 15:15~15:30 \ 2 PN
18 ﬁﬁﬁﬁﬁ%¢%) 2 (13:20~) scl s
PTAFERE®REZES 4 v '
N Lppes e 4/18 OJE? !
19| 4 |27, 37itpk B QUEWBIE gr oo : O
2 | + Hig 8:40~ 8:55 (15) |
@ 9:00~ 9:40 (40) :
21| A ® 9:50~10:30 (40) !
@ 10:40~11:20 (40)H . :
22 | A |PTABAZ AR @ 11:30~12:10 (40| | it = O
gapm 12:10~12:55 [k i
23 | k ® 12:55~13:35 (40) fﬁ SC : O
s 13:45~14:25 N I -
o4 |k [MothE (B H)  DIKELLHR B 13:45~14:25 (40) ] ¢ 260D HE O
AR 14:25~14:40 f=— SHR 8130~ 8:40
25 | K PLRERIRAEAE, 2,358 4, #H) PTAHIEIRAS FF#EAS |y |BEE 8:40~ 8155 (15)) O
— @ 9:00~ 9:40 (40)
9 | 4 g bl @ 9:50~10:30 (40)
- ® 10:40~11:20 (40)
27| + 72| |meum 11:20~12:05
it ] wemamr 12:05~14:20
28 | H 770 | B 14:20~14:35
— x#Ewe 14:35~15:15
29 | H [BEFoo H v
30 |k |2-7, 3-THRIK SC O
AZ DO TE SC:AZ—ATT TR

AT ==X VT =T =R A




